[ Efficiency vs vertpos |

= 02
2o0.18F
2 r
2 E
©0.14
=]
$0.12
0.1
0.08F
0.06F
0.04F

................................................

................................................

B e e o - -

0.95H

1072 107 1

2

—— D 78\'-'—“ TOO0EVT
= BOM-CREREENL 1000evt
fhiciend —— DOM-TESIOER I 1000mt
Efficienq —— BRMESSEHIT-18858u-50000t
~ 0.2¢
z F
(] e
T 0.18F

[%2] L
20.16f
>

g L
.90.14
£0.12F
(]

0.1
0.08
0.06
0.04
0.02

RN AR LR RRRE R

.................................

..................

iy

o
o

10 20 30
TP vert z (cm)

-20 -10

[ Efficiency vs. sim PV z |

~ 0.05
>
80.045,
£
=0.04
9.035
Py
£0.03
.025
(]
0.02
0.015
0.0
0.005
.0

Ratio

1.05]

iy

N p
B | -
3

%55

15 -10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


